Subtract Tens and Ones Strategy

| remember

Example:  Subtract 35 from 60. 30+5=235
60 - 30 =30

30-5=25

6. Subtract using “subtract fens and ones strategy”.

() 67-23=_ (b) 82-41=
(c) 56-31=__ (d) 87 -55=
(€) 100-25=__  (f] 44-12=
(g) 97-45=__ (h) 49 -31=
i) 72-23=_ (j) 93-54=

/. Find the difference between (a) 90 and 34,
(b) 74 and 26.

8. The difference between two numbers is 53. If the bigger number
is 100, what is the smaller number?

Subtract from Nearest Tens Strategy
60 =40+ 20
Example:  Subtract 35 from 60.
40-35=5
20+5=25

9. Subtract using "subtract from nearest tens strategy”.

() 70-27=_ (b) 90-15=
(c) 50-24=__ (d) 40 -48 =
(e) 80-57=__ (f) 30-19=
() 40-28=_ (h) 70 - 46 =
(i) 80-36=__ (j) 100-72=



\WNORD PROB; g g

1. Tim has 3 routes to choose from when he travels from his house o
town. Look at the diagram below. Which is the shortest route?

is the shortest route.

2. Clarais 3 ft 6 in. tall and her sister, Jessie, is 50 in. tall.
What is the difference in their height?

3. Look at the two lines A and B drawn below.
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Line Ais____ cm longer than Line B.



2. Mrs. Martinez ordered a pizza. The boys ate % of the pizza while

the girls ate % of it. One of the boys, Mike, said that all of them ate

3

7 of the whole pizza. Was Mike correct?

3. | transferred % of the jelly beans from Jar A into Jar B. After that

there were 96 jelly beans in Jar A and three times as many in Jar
B. How many jelly beans were in Jar A and Jar B at first?

4. A grocerfilled 1 large bag and 3 small bags with 3 kg of salt. Each

small bag contained % as much salt as the large bag. How many

grams of salt were there in each small bag?

63



